RACHIVIDALD

Selecciona la factorizacién correcta de las siguientes
diferencias de cuadrados

X*=29 = 1-16x10 =
a) (x-5)(x-5) a) (1+4x°)(1+4x°)
b) (x+5)(x+5) b) (1+4x5)(1-4x5)
c) (x+5)(x-5) c) (1-4x3)(1-4x°)
dmié=x2 = 4m8-x4 =

a) (2m’-x) (2m’=x)  3) (2m?-x) (2m*-x)
b) (2m7+x) (2m’=x*)  p) (2m%+x?) (2m*-x2)

c) (2m7=x) (2m7+x")  ¢) (2m*+x3) (2m*+x?)

Jyb-49 = 36-100x%° =

a) (3x3-7)(3x3+7)  a) (6-10x1%)(6+10x19)
b) (3x3+7)(3x3+7)  b) (6+10x'%)(6-10x")
c) (-3x3+7)(3x>-7)  ¢) (6+10x'%)(36-10x0)




